

$$y = \ln(17 - x^2)$$

---

### VORBEREITUNGEN

$$f(x) = \ln(17 - x^2)$$

$$f'(x) = \frac{-2x}{17 - x^2} = \frac{2x}{x^2 - 17}$$

$$f''(x) = \frac{2 \cdot (x^2 - 17) - 2x \cdot 2x}{(x^2 - 17)^2} = \frac{-2(x^2 + 17)}{(x^2 - 17)^2}$$

### DEFINITIONSBEREICH

$$\text{Definiert f\"ur } 17 - x^2 > 0 \quad \Rightarrow \quad -\sqrt{17} < x < \sqrt{17} \quad \mathbf{D} = ]-\sqrt{17}; \sqrt{17}[$$

### SYMMETRIE

Symmetrisch zur y-Achse

### VERHALTEN AM RAND DES DEFINITIONSBEREICHS

$$x \rightarrow +\sqrt{17} \quad \Rightarrow \quad y \rightarrow -\infty$$

$$x \rightarrow -\sqrt{17} \quad \Rightarrow \quad y \rightarrow -\infty$$

$$\text{Pole bei } \mathbf{x = \pm\sqrt{17}}$$

### NULLSTELLEN

$$f(x) = \ln(17 - x^2) = 0 \quad \Rightarrow \quad 17 - x^2 = 1$$
$$x^2 = 16$$

$$\mathbf{x = \pm 4}$$

### STELLEN MIT WAAGRECHTEN TANGENTEN

$$f'(x) = \frac{2x}{x^2 - 17} = 0$$

$$\mathbf{x = 0}$$

## WENDEPUNKTE

$$f''(x) = \frac{-2(x^2 + 17)}{(x^2 - 17)^2} = 0$$

keine

## ÜBERSICHT

x	f(x)	f'(x)	
0	$\ln 17 \approx 2.8$	0	Maximum
$\pm 4$	0	-8	Nullstellen

## GRAPH

